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~ Finding the Area Bounded by Curves Using Two Different Methods

2012 - 2013 Fall Semester MATH 1350 (Barsamian) Class Drill
(using concepts from Section 7-1)

The goal is to use two different methods find the (unsigned) of the region bordered

by the four lines

the line f(x) = 2x — 1
the line g(x) = —x + 2
the line x = —2

the line x = 3

Method #1: (Graphical Approach)

Draw the four lines on the graph at right. Be sure to
'abel the lines clearly.

Shade the region bordered by the four lines. (It should
be two triangles.)

Find the (unsigned) area of the two triangles.
(Hint: Use the formula 4 = %bh for each triangle.

The formula is easy to use if you choose the base to
be the side of the triangle that is vertical.)
Write your results here:

Unsigned Area of Left Triangle = (q )[3) 3:1"

Unsigned Area of Right Triangle = :,;l( 6 \)( 7') -
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Now add the two unsigned areas to find the total shaded area:

Jnsigned Area = 27 é = 2:7 + 12 - 37
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Method #2 Using Calculus
Set up a sum of definite integrals to compute the (unsigned) area.

“our result should look like this.
xX=b x=c

USA = j (some integrand here)dx + f (another integrand here)dx

x=a X=b
(You will have to figure out the integrands and the limits of integration a, b, c.)
Then use calculus to find the value of the definite integrals and find their sum.
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